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1. (a) Find an equation of the line tangent to the graph of
f(z) = 2 — z + 3 at the point (1,3). (10%)
(b) Find the relative extreme values of f(z) = ”’2—:1 (10%)

(c) Find the absolute extreme values of f(z) = z% — 2z + 3 over [0, 3].

(10%)

2. (a) Evaluate f§(z + 2)5dz. (10%)
(b) Evaluate the integral f§ ze®dz. (10%)

(c) Evaluate the integral [ -r5—s dz. (10%)

3. (a) Let f(z,y) =" +ylnz. Find f;(1,1), f,(1,1) and fry(1,1).
' (10%)

(b) Find all critical points for f(z) = z?—y%—2z+4y—3 and determine
whether each corresponds to a relative maximum, a relative
minimum, or a saddle point. (10%)

4. (a) Let R = {(z,y)|0 <z < 1,0 <y < 2}. Evaluate the double integral
] [r(3z* + 4zy) dA. (10%)

(b) Let R = {(z,y)|0 <z <1,0 < 2% + y? < 1}. Evaluate the double
integral [ f[pxzydA. (10%)
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D. Accordmg to the rational expectations hypothesis, expectations can defeat an expansionary
monetary policy by [_ 3% (7) 1

(A)an upward shift in the aggregate supply curve.

(B)a downward shift in the aggregate supply curve.

(C)a downward shift in the aggregate demand curve.

(D) None of the above.
(2). A decrease in the real exchange rate will tend to imports and to exports. [_HE %
8)__1

(A) increase; decrease
(B) increase; increase
(C) not change; decrease
(D) decrease; increase

(3). The substitution effect of a wage decrease, in the work-leisure model, is when the worker [ 3 %
9)__1

(A) wishes to leisure more.

(B) wishes to work more.

(C) is indifferent between working more or less.

(D) wishes to work more but be less productive.

(4). The Wheeler Wheat Farm has a long-term lease on 5,000 acres of land. The annual lease payment
is $250,000. Prior to planting in the spring of 2015, the Wheeler Farm accountant predicted that the
Farm would have $135,000 dollars left after paying all of its 2015 fixed and variable costs except the
annual lease payment. In this case, the Wheeler Wheat Farm should [__3&Z (10) ]

(A) not produce and incur an accounting loss of $135,000.

(B) not produce and incur an accounting loss of $250,000.
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(C) continue to operate because it is still possible to have economic profits.
(D) continue to operate even though it predicts an accounting loss of $115,000.

(5). If, when the price of X increases, the demand for Y decrease one can conclude that | Lz

a1 ]
(A) X and Y are normal.

(B) X and Y are substitutes.
(C) X and Y are complements.
(D) X and Y are inferior.

(6). A firm’s shutdown point is the quantity and the price at which the firm’s total revenue just equals
to[ _HtZE (12) ]
(A) Total cost.

(B) Marginal cost.
(C) Total average cost.
(D) Total fixed cost.

(7). If the nominal interest rate rises, and the expected inflation rate falls, then the real interest rate [
qBLE__(13) ]
(A) rises.
(B) falls.
(C) uncertain.
(D) 1s unchanged.

(8). Suppose the government imposes a tax of 10% on the first $40,000 of income and 20% on all
income above $40,000. What is the tax liability and the marginal tax rate for a person whose income
is $50,0007 [ 3t (14) ]

(A) $10,000 and 20% respectively.

(B) 20% and $10,000 respectively.

(C) $6,000 and 12% respectively.

(D) $6,000 and 20% respectively.

(9). The Phillips curve suggests that | 4172  (15) |
(A) an increase in inflation temporarily increases unemployment.
(B) a decrease in inflation temporarily increases unemployment.
(C) inflation and unemployment are unrelated in the short run.
(D) none of the above.

(10). Fiscal policy involves [ HL%Z (16) |
(A) the use of tax and money policies by government to influence the level of interest rates.
(B) the use of U.S. Treasury notes to influence the level of interest and money supply.
(C) the use of tax and spending policies by government to influence the level of aggregate
demand.
(D) decreasing the role of the Federal Reserve in the everyday life of the economy.
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